
frqrB qE{I-ft-II6 qoqq m{-flr'K \ex$fus-r rs6H( s tTfusfrfr:{Igt-{<'l{Ffi{ft 
r

qfQq ea1DT{ Cfi"IT{ 
=lrnrrf 

ffi, {otr qqq 13r6'frqq (qB) ,s< heTg1 +fiFE qsT {k.oe.qoqq R Eik.{ RE1q c.oo
$ry xt ]reF^* <l<q"lo q-{m qfu 1lrr qr{ ,e< rert&-nn 1"r qsfrT 

"ffi.r 
q<l-ncfiq 6t; *$.';; ,q. fr.d."e'f+6rtnft&sftarq r

q-sr,{&-
qE-qI
qq-{I
qEqr
:rk e

shTErdcsffi 9l[16
F'{agI r

oq I s'{rsrq ea.Dl< Dbfu e+g prE q<1< nT{.ffi csnfu {(o-ir-{ qsl{ srfu{ us q-5Ea r 1.,rffi fi,ftv qre sau"r s-qft--qa
q$Is E[TIe*{ sm vl-qqfu xrqw qBns €f{r+ sLT{ ffi qrfl r6a s-GFt qE-si s srrqn qlrct qffi6T, l{EgI, ax<fq<ref . qkq(
gfr qT{tfErE*[ eaDlr<nB.I<.ATftqcTl-rT{r s[-{lq{ r <6qn <l,rqfr( {ru-qp6 rfi"fq eF{"ie ars<lBr<-<qrK.,,fc$ft flqcEFqq{{
qfu< q-sft qcE csH q?Frq {g:iEi effi.I Tr-f,{ I {rtr qqq RrqqRq (qB) s{ otrE-6rf+ffiq( assr ?<fuqsT s +6<].G$m qr<T
qr**rfr:s eqtfis qfu s i< $qfi { {Ka-E s{ qfuq.t I,Es qffi r q-sm Fqrs fr qE Tas en-

o)) q(qsm{qqp{s-6/ffis{csr-( ou15;6ffi$*6rqd, "ll"1.t{frqfu$rs{Etfrmr"lrrrE$irtr$t I

"q) S v1Ffu <r<q["fdI fiFr-.0-orrqr XfjE frffi${ {Etsct ET54 {ffiro qfufq6 q(5} qcs q5q r srtffi,o <r<qH1t <t q{l. mF
ftsc{ sfuT Eft-<F-<rt s?ItrE <r<Er ifqd cr[s. qr{ 

r

or: ) qffi'q Rrq qBfiFt <Tq qfr"{rq E|slq T-rrs. qr<" 
r

o8) nmft {T r\Tft q6u xkta <rT(rfir trmFr fi qqtm lrr}'qrv qr< r o.mr+r "rirroq (.{fi&-> q<s frq{qcqcq ) q<
qfkcqqfi{rqaBr+tqrm{-<q-dl nrq{QqraqIrerfrR-scFtfcqfrf <rFiGrrEcrq,s<\ts,"|i|rqsrcsn<]s<mrqc.rE}
q[sqr{ 

I

o a ) qsEIT q[qf 466 ffi ffirq cfu{ Ffi-sT {ar+ qrrq qr< .s<( skw .{skfiTcr aaqm frm {q GrcE q5q 
1

os ) mn qo-<i{ ffi as<Ilrd q-s-qm :ffi cru? ?fiscs sr<. r

or) <Rqlffi'l Tfr n]tqr$T frfrH sl'6'ffi frrr <rfrs qfu-r<m Ftlfrgglr< <?mqm €rslr s-f,6s qr< t EF <fr-+ efu<q-rq. qpfq
q+rllqlqq?;rsq-{iqrqt-qT{srRq'sE?qQts-{IEqr< rg&Mr+he-r-slsfrEre-slr<ffi-sEer<q.{. ews<wfqfu
q<fuq-*rsqrs 

r

{RFs-slr< Bqlbr{ 5b1{ $<irq ffc futRBm ore qiFR{ <T(qrcFr ?fr <-r<+, {qr qcq {Trifr(q (cB) ff *"6 qm{
rw qqq Rrqr{ rI$ sHrtr Esrr a-qr :F,c{ ffitfu-$.-{1l<lr .ilsnb {{qkT :1sK qqift mR$ Trfi 1

(s) q-lT{ 4fr-{ TryK qTT, W qtrfr 'o <i<qr"r+, 1ti1. qTs€frr $I{H.s, sT:nfu.q(E3)
({) s-diqqrqqqqmT, qtqsfrsft.?}s] a{rr6, qifr-st, qslr{fuc(n)
( ri) qffi i{iq$ qisrr. e{+6, q<; vl.<rft '+ +'l{[ct, T*rra6*or,
(s) s'ffi ft fu m-{-ff , rrroft aq6;qq1";E, {lrr ql?Ffus sT.{rq{, rffisq(Es )(s) mls qrqtEE{s, {lrreff,, A+wsF-+e{rm, vqTdft\E(qB)

^ Sr4,*
qTsrEqq s€s-sKk

"lTir

=F{gfu.s-,rraqe+qWtBa
qEqIqfrT{?lT<

4\q 4*
heqorFfrfr<
wrcIKElffit

l,
'4+'1,,4,,

!-.c-. ^aLql\e9\91 9lxltr{
{sP[trg< 

"1F{
{K-s Ir.- n-sFT(nBEB H.fi rr. (fr fr {- ) ( sc ) /f o \ ) -eo e{/ \a o \s/ g @)
qh--T Erslrqf q{&Pt cErr{ s-<I i[ETa-
ot r *trqfrql-q, mmi<qt"r+rr<tnrr<Es{, ffi, frclfrTsTtr-{T, nnn-afriq 1

oq I Bet-qq=ir{'t+, {=rrfr,-rl-qq e q:qTB-drrfisir, ffi,.:r€t, Ersir I

os | {$-{ {lvtf <r<q[,FF, ffi, v<qikq(q?), *lI Elq rus;ffiffi;1

slRrB- tr/o\e/qoqq R

{Erpu-{aqF{

xr-sraBa

qlREImTTR$tqo
$iqlqsfrrs Fm

xgqfr<qfiB) 1


